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(3 Hours)

N.B.: (1) Questions no. 1 is compulsory. i LSS g'—-:' $7E % &
(2) Attempt any three questions from Q. 2 to ‘Q::tS SOS[E N
3) Use of statlsncal tablc permmed SR
®) IfA= [g g] then find the mggnyalqu"fsA 4; T .‘;i_ﬁ_”f $ 5 >
(c) State whether the following statemntasmxeerfals v?nﬁreasonmg .;" 'Ihercgressmn 5
coefficients between 2x and”2yai_'e the same a&thtise betWee;lx nndy LIS,
(d) Construct the dual of the: ﬁliom§L?P' PSS E S m Loy § 5
Maximise Z=3x -1-171{{!*9:\:3 F& CeSESS 5
Subjectto  x-X,#x,>3 - "
-3x 2K, 51‘
2%, #%;7 5x,=1 A
"xp x_—p x-_,?: Q . <3
2 @ Evaluate I = 4)4 w}fmcgﬁsgﬁd 6
‘_;\ P b \_“‘-‘,\-_;. R 6
(b) show Ehat thematrlx A=
(c.) Amanufactumhows ﬁ-omhgs Wmamcmxstmcc of resistors he produces 8 'r
:snormal wlth |.1~"v‘100 ohns ahd%;aqdmd deviation ¢ =2 ohms. What percentage of :
regis’tom mﬂhgvsmxstamﬂ bet‘Ween 98 ohms and 102 ohms? k
: fl] Adlscﬁ:tz random.vanahlehasﬂle probability distribution given below: 6 “

oAl el 6] 1 [2 [3
4}(*@ [02] % [0 ]2k [01]2k

Fmd lgvihe mean and vanance

[ TURN OVER ]
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(b) Solve the following L.P.P. by simplex method
Maximise Z=3x,2x,
Subjectto  x,+x,<4
XX, < 2
X,,%, >0

" ST & & _‘
z¢ -1 : e g
¢) Expand f(2)= ‘m aroundz 0 ﬁhdlcatmg?regmn.ofcdnvergeme.\ ; 8

3. (@) A tyre compan l_a_xmt. that the hve& Qf tyres have mean 42,000 kms with S.D of 6
40{)0hns A changa in the. productlo‘n p&ecess isbelieved to result in better product.
CAtest sample of 81 new‘g(resh'“’ -a mean Jife of 42,500 kms. Test at 5% level of
& 1_s1gmﬁcagce tbatthe new preductkls’ éT’gmf‘ cantly better than the old one.
6
(c) Usmg the Kuhn"I ucker con tmﬂs solvc the following N.L.P.P.
) Vst 2= TS 8
RS0
‘+3xzs9
[ TURN OVER
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) Q.P. Code :13174

3 Please check whether you have got the right question paper..
_"' S N.B: Subject ADA CSC 402 CBSGS R-12 SE comp SEM IV CBSGS
& 1. Q.1iscompulsory.
2. Solve any three from Remaining

Qi1 Answer any four WO P DAL TAS O LR R o
a) Write an algorithm for finding maximum and m:mmum number from glven set ‘ :
b) Write the algorithm and derived the complexlty of Blnary Search algorlthrn
c) Explain masters method with example PR :
d) Write a note on flow shop scheduling -~

e) Compare divide and conquer, dynamlc programmmg and Backtrack]ng approache used for
algorithm design. 4 L0 A . A .

J 22 a) Write and explain string matching with finite automata with an example -~~~ 10
b) Explain how branch and bduh’d str:ate"gV c’a'ri'b’e used in 15 puzzle problem. - 10
@3 a) Whatis0/1knapsack and fractuonal knapsack problem ey 10
Solve following usmg 0/1 knapsack method "
> Item (l) = Value (w) -;f'"_.'Wei_ght('Wi)
T TR s L e ey
8 z S ST R SR AT
< G AT 4
VT A S {0 NS 3
- S5 A & 5 6
Knapsackcapacuty-lz. R S

b) . Explaln msertion sort and denve ItS complextty S 10

a) What isa blnary search tree'-" How to generate optlmal binary search tree 10

b) Whati isa Iongest common subsequence problem? Find LCS for following string X = ACB AED 10
Y ABC ABE ;

a) Explain .fob Sequencmg wath deadllnes 10

Let n= 4 (P1 P2 P3 P4) (100 10 15 27) and (d; d; ds da) (2,1,2,1) find feasible solution.

b) -Explam pnms a!gorlthm and fmd minimum spanning tree for the following graph. 10

(P.T.0)
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Write short notes (any three)

ng Integers

a) Problem of multiplying Lo

-,
P

ic

b) Strassen’s matrix multipl

&

e

)
I
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¢) Knuth Morr|

Pratt’s Patt

o

a

S
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d) Multi stage Graph




P N E m- T1124/T1044/ COMPUTER ORGANIZATION AND ARCHIECTURE
[casas
[Time: Three Hours]
Please check whether you have got the right quesuéubapéf
N.B: Question no 1 is compulsory. iy

2 Attempt any three questions from remammg‘ﬁve questlons
3. Assume suitable data if required. N A

0

4. Draw neat diagram wherever necessary.:

21 Solve any four out of five.
A. Explain Virtual Memory.

B. What is IO buffering?

C. Write a note on scanner.
D. What is Segmentation?

E. What is TLB?

B.A block setassoomuvc*taéhe consists of 64 bTocks dtv'iled in 4 block sets. The main memory 10

contalnsmsblcipks, eaCh 128‘werds of 16bit lengﬂ:.f

i
;

~I) Ho\gmanyhxts aré;thcgem mam \mﬂmory address'?

3) HQW my<bl : nre;th‘cre in caéhe memory address (tag, set, and word fields)?
M A Dlﬁérqntiate bgmeenf'msc and CISC proCessor 10

B Explai\:gﬂym sg;lasslﬂcanon : : 10
A. ancuss ths fmkcﬁnn.s of &989 I[O processor 10

: nsmwﬂgﬁ qszi”stan_
E - -b:tdoqbi&format sl

10

10
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Time: 3 Hours

N.B. : (1) Question Number 1 is compulsory

1.

(b)
©

2. (a) Whatis adeadlock? HQW i : L
prevention scheme. AN

“H‘,M‘H

R T L e T

10

(h} Compama‘; nn@n&facnue rénges of‘| products which are purchased by 10
-~ ust

'l:he‘rgla.tmn schema for thls operation is given as :-

‘code,company We Jdirector#,director_name, {product
%""{Cljﬁt# ‘customer_name, address}}) where { } represents a
"ﬂgrougs\and company_code, dirctor# and cust# contains unique
‘ "'1125 this relation to thlrﬂ normal form.

TURN OVER
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T1124/T1045 S.E(COMPUTER ENGG)(SEM IV) (CBSGS) DATABASE MANAGEMENT SYSTEMS = =

4. (a)

(i)  set intersection
(i) Generalized projection
(iii} Natural Join

(iv) Aggregation operator

(¥
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£ - CMPN /TII24/TIO46 THEORETICAL COMPUTER SCIENCE M 9"” = 2.0 ‘7 ‘
SGS
Q.P. Code :09887
{Time: Three Hours) | Marks:80)
Please check whether you have got the right question paper.
N.B: Question No. 1 is compulsory.

Attempt any three out of remaining five questions.
Assumptions made should be clearly stated.

Figures to the right indicate full marks.

Assume suitable data whenever required but justify that.

P ol B R e

a) Differentiate between NFA and DFA
b) Explain Chomsky Hierarchy

c) Explain Rice's Theorem

d) Explain Pumping Lemma for CFG

a) Design FA to check divisibility by 3 to binary number.
b) Using Pumping Lemma prove that following language is not regular: L = { 0m 1m+1 |
m>0 }

a) Design Moore Machine to generate output A if string is ending with abb, B if string
ending with aba and C otherwise over alphabet (a,b).And Convert it to Mealy
machine.

b) Simplify the given grammar. S = aAa/bBb/BB A -C B »A/S C —S/¢.

a) Construct NFA for Given Regular expressions:
i) (a+b)*ab,
ii) aa(a+b)*Db,
iii) aba(a+b)*,
iv) (ab/ba)*/(aa/bb)*
b) Construct PDA accepting the language L= {a2b" | n>0}.

a) Design minimized DFA for accepting strings ending with 100 over alphabet (0,1).
b) Design Turing machine to recognize wellformedness of parenthesis.

Write short note on (any four)
a) Greibach Normal form
b) Deterministic PDA and Multistack PDA
¢) Variants of Turing Machine
d) Halting Problem
e) Church-Turing Thesis

F97BF8CF494AE2E18F297DC342864878
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Duration: 3 Hours

N.B.: (1) Question No. 1 is compulsory. ;"
(2) Attempt any three of remaining five questions.
(3) Assume any suitable data if necessary and Juan ' thc :

2 Dcﬁné mndow, \aewport an;l Sleﬁ\(ewvvlnd\
b {;;lefercnttatehe%ween paraitel;and perspetgve projection. Explain with the

Explain WéllérxAﬂ'lel:ton,af gfhm 4'01‘ .polygon‘ _."lippmg What are the
advantagqs ov fhe@cther y(ﬂyggmc’&pp_mg alg ‘thm Explain its working

"_,Kviewport transformation.

I
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